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Unit 1: GO GLOBAL!!

Name: Level: 2° Medio
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Teacher’s e-mail: vescobar@gmail.coml.

Objectives:
OA 10: To demonstrate comprehension of an expository text about global issues.
OA 12: To use strategies to support comprehension
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DE INFORMACION?

READING
What does globalization mean? We always hear this word on TV and read about it in

newspapers. It means the world is now a village -the global village. The world has
become smaller. Of course, the world did not shrink and it isn't a village. Because of
better transport, the Internet and more trading between countries, it is easier o do
business. Japanese car makers have factories in Thailand; American computer
companies employ thousands of people in China. That's globalization. And don't forget
the millions of call centre jobs in India that workers in America and Europe used to
do. Globalization also means it is easier to work in another country. Is globalization a

good or bad thing? That's a difficult question to answer.



I.Look at the vocabulary and find the rigth pronunciation in a virtual
dictionary.

II. Find the Spanish for the last 5 words.

Shrink: hundir
Between: entre (2 things)
Village: villa

Easier: mas facil
Trading: Intercambio
Employ: contratar
Country/countries:
World:

Business:
Newspapers:
Factory/ factories:

Company/companies:

lll. Answser these questions:
1. Mention 5 examples of globalization can you find that are present in daily life.

a)

b)

c)
d)

e)

2. Why does the text says that the world has become smaller?

3. How many countries or continent are mentioned in the text? Which are they?




4. Are these images related to globalization? Yes or no, why?

Explain in your own words in Spanish.
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